B3P Ly R 2+ — AR 48 A A R

#B - %Hﬂ% (K%F}T‘E*ﬂ]ﬁa#ﬁ- @é?) ’ %[ R %] R

—BERHAESEY BAARER FHHLEREA £ £ (idealism)
FREEL RETEA(ealismBFRALT LA
(neo-realism) ~ A F £ £ M #7 4 b £ & (neo-liberalism)
FIeG £ - (25 4) -

= ~ In his article “The Clash of Civilizations?” Samuel P.
Huntington asserts that “conflict between civilizations will
supplant ideological and other forms of conflict as the
dominant global form of conflict.” His views meet with
strong criticism. Please analyze Huntington’s views and the

criticism. (25 %)

= According to Graham T. Allison, there are three models for
the analysis of foreign policy decision making. What are

those three models and their theories? In your view, which
model can best explain the foreign policy decision making.
Why? Some challenge that decision-makers can be really
rational in the foreign policy decision-making process. Do
you agree with those criticisms? (25 %+)
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1. post-modern terrorism
World Health Assembly and WHO
functionalism and neo-functionalism

Concert of Europe
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Bicameralism

Decentralization

Hegemony

Confederation

Cohabitation
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(1) Explain the soft budget constraint issue of China’s state-owned
enterprise.(hint: a vicious cycle of policy burdens, subsidies, agency
problems, and political interventions in the state-owned enterprise
management system)

(2) Suppose that the government wants to control the use of the commons,
what methods exist for achieving the efficient level of use?

(3) Under which circumstances would network externalities arise?
Describe how the demand for a mobile phone might exhibit network
externalities?

(4) Consider a cartel in which each firm has identical and constant
marginal costs. If the cartel maximizes total industry profits, what
does this imply about the division of output between the firms?

(5) Consider a firm with the Cobb-Douglas production function given by
fx,x)= x,°x°. (@) Give the supply function of the Cobb-Douglas
firm. (b) Show that when the firm exhibits CRTS, the supply function
is not well defined as long as the output and input markets are both
competitive.
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{(—) Let X be a random variable with pdf .

fx(z)=2r O<2<1

Let ¥ =3X — 1. Find fy(y).

(Z) Let X, Y and Z be independent random variables with means
—3, 4, and 1, and variances 6, 16, and 4, respectively. Let I/ =
X -2, W=X+Y+2,and V = X -~ 2Y + Z. Find the means,
variances and standard deviations of U/, ¥, and W. Find the mean
and variance of U + V + W.

{=) Let X = (X1, Xy, X;)" have a trivariate normal distribution
with means 6, 4, and 2 and variances 16, 25, and 64, and with
cov( Xy, X2)=6 and cov(X,, X3)=cov(Xs, X3)=0. Let ¥; = 2X, +
3X;+X3+2and ¥; = 4X; + X3+ 2. What is the joint distribution
of ¥ = (¥1,Y3) ?

(I4) Given a random sample of size T, (¥;, Y3, ..., ¥r) from Normal
distribution N{u, ¢?). Find the MLE for u and o2

(B) Let Y3,Y3,...,Y, be a random sample from an N{g, o) pdf
where o? is known. Find an expression for a 95% confidence interval

for .
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(A) FRiE R TR % (Key Success Factor)

(B) LA IR ES A SERE (Resource-Based Strategy)

(C) =3 (Synergy)

(D) EZ4 T (Disintegration)

(B) R 5% U8 (Strategic Alliance)

(F) =BV KB (Differentiation Strategy)

(G) B & ERE (Integration Strategy)
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